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BOTANY
[GENERAL]
Paper : 11
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.

GROUP-A
(Cytogenetics and Molecular Genetics)
[Marks : 35]
1.  Answer any three of the following: I1x3=3
@I Fouifb e Tes e ¢

a)  What is isochromosome?

SREIFECE F?

b)  What is autopolyploidy?
SIGIolfezRf e

c)  What are okazaki fragments?
SHGNE FATCASET F?

[Turn over]

d) What is translocation heterozygote?

GRS barensat Jie

2. Answer any five of the following: 2x5=10

- 166 g Tea wie ¢
a)  Distinguish between monoploidy and haploidy.
WIAEG @ FizEfn W Al @19 |

b) Distinguish between paracentric and

pericentric inversion.

ARACTLS ¢ RTITT TSR S 112

=14

c)  Why mitochondria is called semi-autonomous

organelle?
RGPS GG S5t @ 27 (e 2

d) State two differences between DNA
polymerase and RNA polymerase.

DNA #fersliizs @ RNA #ifemsicas-«3 sy ufo
e T I

e) Distinguish between meiotic prophase I and

prophase I1.
RIFeR @we-1 ¢ @Ee-11 93 S AL
=14
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f)  State two functions of endoplasmic reticulum.
qreiziEE i gt S G F91
g)  Write the law of independent assortment.

Fi&W /o™ @b @4

Answer any two of the following: 6x2=12
@I 7B 3T Bed mi 2

a)  What is dihybrid experiment? Explain the

experiment with garden pea.

forRsameER =T Fe orsameR A5
EERIPZERE NN

b) Draw and describe different types of trisomic.

How it differs from tetrasomic?

fafes gz GrReNfEs Afbg 3@ wie |
BRI A @3 2Ny Fe

c) Name the enzymes required for DNA

replication and mention their functions.

DNA GEREET dr@ie Sernasierd O @12
G2 TRWE I T 9|

Discuss the process of transcription in prokaryotic
cell. 10

@rfRes @ GEfEemea dafel SicEmT F1
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OR

What is nucleotide? How it differs from a

nucleoside? Give a concept of double helix structure
of DNA. 2+2+6=10

o SN

FSebiRT F 7 MERpezres A0t @ A1 F1? DNA-
TORPCAE 5o TRCH ATl 7€ |

GROUP-B
(Plant Physiology and Biochemistry)
[Marks : 35]
Answer any three of the following: 1x3=3
@I FostfB e T mie ¢
a)  Whatis RUBISCO?
RUBISCO 2

b)  Give an example of symbiotic N -fixing

organism.

A& AREIE RIFAFI FNYGNET 90
TR e |

c) Distinguish between transpiration and

gutlation.
QEATD & TS W& AL @74 |

d) Name a synthetic auxin.

G Prele wfta T @12
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e) State when the RQ values become infinity.
P4 RQ-93 W wrefqe (AfFMD) 2312

Answer any two of the following: 2x2=4

@-CFIC g 2o bed vie ¢

a)  Define nitrification.

2T RFEEE ke @1

b)  What is vernalization?

SRS I e 2
c) Define oxidative phosphorylation.
SfELTe FAGRARETER e (=72 |
d)  What are the significance of CAM plants?
CAM Tfgma Sieoif Fi 2
Answer any three of the following: 6x3=18
@I Fouifb e Tes e ¢

a) Discuss the role of IAA in plant growth and

development.

Tfema e @3 2ITFEEE 1A A-97 Sl S5

4

b)  Discuss the role of the following elements in

the metabolism of plants:

1) Phosphorus (P) ;
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ii) Sulphur (S) ;

iii) Iron (Fe);

iv) Magnesium (Mg);

i feiices Ffe (Tmefm ol SISl
RS

i) = (P)

i) AR (S)

iii) RS (Fe)

iv)  SisiaRETE (Mg)

c) Give a brief account of nitrogen fixation by

the free living bacteria and blue green algae.

FIANEI AZEGICE FRARARI TG €< el
G (<RI B ARG AT A AT
3l 9|

d) Give a brief account of environmental control

on flowering.

Ao Aga AREER g Tord kfHFy
AL 41

What do you mean by C, and C, plants? Discuss the

reactions involved in the Calvin cycle.  2+8=10

C, 9k C, Tfign welte & @M@ (Fefes vies

el [aad wie |
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OR

Discuss Krebs cycle in higher plants. Why is it
called TCA cycle? 8+2=10

THEAT Sfem (@IDEs SEvl 391 83l TCA
b 6T T (&2

GROUP-C

(Development and Reproduction in flowering plants)

[Marks : 30]
Answer any four of the following: 2x4=8
-1 BIATH 0 Ted uie ¢
a)  What is tylosis?
BEGERE
b)  What is self sterility?
Cre EBRRET (Fa=Te) He
c¢) What is double fertilization?
fafece I e
d) Define megasporogenesis.
GECAACERPIER kel 71 |
e) What is phelloderm?
CRCEIeT 2
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10. Answer any two of the following: 6x2=12

I1.

-G 7S e Ted vie ¢

a)  Describe with suitable diagram the structure

of ovule in higher plants. 6
Toige Hapiz ThHE Sfemd ovule-ad 5/ Fefdl
Rl

b)  Describe contrivances for cross pollination.
6

BT 2RIRIGR eferirefrm a9 e |
c) Describe different types of fleshy fruits with

example. 6

Cwizgepiz [fen &R 101 weera 3efql wie |
What do you understand by secondary growth in
thickness? With sketches describe how intrastelar
secondary growth takes place in dicot stem.

2+8=10
(Mo FeT0e 6 @RI 2 Besial Sfem el oeeholm
CMeRfa & @l foarre 3ol 7|
OR

Define cell wall. Write composition and structure
of cell wall. 2+8=10

@R AT FAcEs TS | (I ABIET THAMT € 5
HAE (@ |
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